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Mathematics
Transition Booklet
An Introduction to Year 7
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This booklet will help to prepare you for your maths lessons when
you join us in September.

Complete as many different tasks as you can over summer and bring
the booklet with you in September to show your maths teachers and
you could achieve your first Pleckgate achievement points. If you
fancy an extra challenge there are some mind boggling maths
problems at the end, which will really make you think.

Try to do around 30 minutes each day. Don’t forget you can use
useful websites to help you such as BBC Bitesize.

Have a good summer and see you in September.



BOOSTER WORKBOOK

Calculation C4

Add and subtract
to solve problems

Tom and Nadia have 16 cards each.

Tom gives Nadia 12 of his cards.

How many cards do Tom and Nadia each have now?

\

Tom Nadia

Lucy also has 16 cards.

She gives a quarter of her cards to Kiran.

How many cards does Lucy give to Kiran?

\




Leon and Sara each started with different numbers.

| subtracted 8
from my number.

| added 5
to my number.

Leon and Sara both get the same answer.

What numbers could they have started with?

\ Leon Sara

1 mark
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Provider

Sapna and Robbie have some biscuits.

Altogether they have 14 biscuits.

Sapna has 2 more biscuits than Robbie.

How many biscuits do Sapna and Robbie each have?

\

Sapna Robbie

1 mark



° p and q each stand for whole numbers.

p+q=1000

p is 150 greater than q.

Calculate the numbers p and q.

Show
your method.
You may get
a mark.

© Pleckgate E&2
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2 marks

Calculation C5

Properties of
number
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Use each number card once to make the answer to each
Circle three numbers that add to make a multiple of 10 calculation an even number.

\

M 12 13 14 15 16 17 18 19 . 3 4 5

N\
5 X
|
Write each of these numbers in its correct place on the 12 =
sorting diagram.
) —
)
40 8 15
9 +
e/ 2 marks

multiples of 5 multiples of 2

n Complete this sentence.

Every number with a factor of 10 must also have factors of

&

N

and and

2 marks

1 mark
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Here is a diagram for sorting numbers.

John says,

‘Every multiple of 5 ends in 5’

Write these three numbers in the correct boxes.

You may not need to use all of the boxes.

9 17 20

N ]
prime \
not even
-
Explain how you know. even
not prime /

Is he correct?
Circle Yes or No.

2 marks

1 mark

o Here is a sorting diagram for numbers.

Write a number less than 100 in each space.
o Circle all the multiples of 8 in this list of numbers.

even not even

\ 18 32 5 68 72 \

1 mark

a square number

not a square number

2 marks



o Write these numbers in the correct places on
the Venn diagram.

Some numbers are already placed.

99 170 221

odd
numbers

numbers less
than 200

350

2 marks

) Pleckgate [
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factors of 30

factors of 40

2 marks
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Here is a sorting diagram with four sections, A, B, C and D. Here is a diagram for sorting numbers.
. Write one number in each white section of the diagram.
Itiple of 10
ruttipie © multiple of 10
multiple of 20 A B less 1000
than 1000 or more
not a
multiple of 20 c D
multiples
of 20
Write a number that could go in section C.
not multiples
*\ of 20

1 mark

Section B can never have any numbers in it.

Explain why.

1 mark
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Write one number which fits all three of these statements.

Here are four digit cards.

It is a multiple of 4

It is a multiple of 6 7 5 2 1

It endsin ‘8’
\ Choose two cards each time to make the following
two-digit numbers.
1 mark
The first one is done for you.
S ¥ amm—
Explain why a number which ends in ‘3’ cannot be a multiple of 4 an even number 512

a multiple of 9

| S N
e e
a square number
1 mark
o amm—
a factor of 96
| S — 2 marks

Write all the factors of 30 which are also factors of 20

2 marks



Julie says,

‘l added three odd numbers and
my answer was 50’

Explain why Julie cannot be correct.

Find two square numbers that total 45

\

1 mark

1 mark

12

Circle the two prime numbers.

N\

29 39 49 59

“ Two whole numbers are each between 50 and 70

They multiply to make 4095

Write in the missing numbers.

AN

Write the three prime numbers which
multiply to make 231

\ X X

) Pleckgate &
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69

1 mark

4095

1 mark

= 231

1 mark

13



Debbie has a pack of cards numbered from 1 to 20

She picks four different number cards.

aiapana

Exactly three of the four numbers are multiples of 5

Exactly three of the four numbers are even numbers.

All four of the numbers add up to less than 40

Write what the numbers could be.

Huu

1 mark

14

P Pleckgate B
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Calculation C7

Multiply and divide
using written methods



Write in the missing digits to make this correct.

\

6 1 mark

Calculate 847 +~ 7

1 mark

1 mark

5 Pleckgate
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Calculate 2307 x 8

Write what the three missing digits could be in
this calculation.

AN x -13|7]|s

offed

Outstanding
Provider

1 mark

1 mark
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o Calculate 509 x 24

17 multiplied by itself gives a 3-digit answer.

1 7 | x |1 71 =121]|81]9

Show
your working.
You may get
a mark.

What is the smallest 2-digit number that can be
multiplied by itself to give a 4-digit answer?

1 mark

Calculate 143 x 37

Show
your working.
You may get
a mark.

2 marks
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n Caloulate 504 = 21 n Calculate 848 + 16
\
\

Show
Show your working.
your working. You may get
You may get a mark.
a mark.

2 marks

2 marks

€D ccuiee924+22
\

Show
your working.
You may get
a mark.

2 marks




Write in the missing numbers.

N\ 45  + = 110
(4 x 5) - = 12
60 X 3 =
BOOSTER WORKBOOK
o
Calculation C8
Solve problems all N 0

four operations




Draw a line from each card to the correct part of the
number line.

One has been done for you.
You may use a calculator.

0
283 + 159
100
200
29 x 18
300
400
720 =+ 45 N
- 500
759 — 484 600

1 mark

1 mark

1 mark

Write in the missing numbers.

\

37 x
225 -
- 4
5 Write in the missing numbers
\ + 85

120

Pleckgate &
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51 =

m

150

21

200

120

1 mark

1 mark

1 mark

1 mark



7

633 -

140

34

1 mark

90

200

1 mark

o Write in the missing numbers.
\ 22 X

&

N
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660

1 mark

109

1 mark

Draw one line from each calculation on the left to the

correct box on the right.

One has been done for you.

11 x 11

4x5x6

56 + 27 + 17

835 -745

4000 + 50

greater than 100

less than 100

equal to 100

2 marks
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“ Here is a CD rack.

There are 5 balloons in a packet.

There are 18 packets in a box.

How many balloons are there altogether in a box? One rack holds 25 CDs.
\ David has 83 CDs.
1 mark How many racks does he need to hold all his CDs?

N\

1 mark

There are 5 balloons in a packet.
Kofi needs 65 balloons.
Lin has 6 racks full of CDs.

How many CDs does Lin have altogether?
How many packets does he need?

\ 1 mark




Plants are sold in trays of 20

lvana buys 7 trays of plants.

How many plants is this?

1 mark

David wants 240 plants.

How many trays does he need to buy?

1 mark

o Pleckgate E&s
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13 Write in the missing numbers.

1 mark

1 mark

m Each missing digit in these calculations is 2, 5 or 7
Write in the missing digits.

You may use each digit more than once.

\

1 mark

1 mark

10



Alan has 45 beans.

He plants 3 beans in each of his pots.

How many pots does he need?

pots

Leila puts 4 seeds in each of her pots.

She uses 6 pots and has 1 seed left over.

How many seeds did she start with?

1 mark

1 mark

1"

Pleckgate i

Jemma thinks of a number.

She says,

‘Add 3 to my number and then
multiply the result by 5
The answer is 35’

What is Jemma'’s number? \

1 mark

Riaz thinks of a number.
He says,

‘Halve my number and then add 17
The answer is 23’

What is Riaz's number? \

1 mark

12
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50 children need two pencils each.

20 Pencils

There are 20 pencils in a box.

How many boxes of pencils are needed?

®
\ boxes

1 mark A

In a supermarket storeroom there are

7 boxes of tomato soup
5 boxes of pea soup

4 boxes of chicken soup

50 children need one pen each.

Pens are sold in packs of 4 There are 24 tins in every box.

v many Packa of pana need to e balght? How many tins of soup are there altogether?

N
\ packs

1 mark

Show
your method.
You may get
a mark.

2 marks

14

13



Josh thinks of a number.

He adds 4
He multiplies his result by 3

Then he takes away 9
His final answer is 90

What number did Josh start with?

15

) Pleckgate fias
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HiGH scHooL [N

The signs are missing from these number sentences.

Write in the missing signs, + — X or +

The first has been done for you.

O

1 mark

20 O 8 = 4

1 mark

16
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Liam thinks of a number.

He multiplies the number by 5 and
then subtracts 60 from the result.

His answer equals the number he started with.

What was the number Liam started with?

Show
your working.
You may get
a mark.

BOOSTER WORKBOOK

Calculation C9

Order of
operations

17
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Caloulate 1.2 x (1.3 + 1.4) x 1.5
Write in what the missing numbers could be.

N\

\( . ) +90 = 100

1 mark

Write the correct sign >, < or = in each of the following.

\ (10+5)-9 (10+9) -5
3x(4+5) (3x4)+5
(10x4)+2 10 x (4 + 2)

Calculate 900 = (45 X% 4)




\

T S T
1 12 12
___J __/ __J
T S T
32 32 4-
BOOSTER WORKBOOK _J ) ) e
n Write the missing fraction
. 0
Fractions,% and .
3 + I + =1

Decimals F4

Add and
subtract fractions




Here is part of a number line.

Write in the two missing numbers.

WWWWW

& Pleckgate fi&
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Fractions,% and
Decimals F9

Multiply and divide
with decimals



o Calculate 31.6 X 7

Caloulate 1.2 x (1.3 + 1.4) x 1.5

» Pleckgate

IGH SCHOOL

Write in the missing numbers.

\ +~ 217 = 375
100 - (22.75 + 19.08) =
Write in the missing number.
32.45 x = 253.11
1 mark 1 mark
3
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5 24 8.1 94 10 u Write the answer to each of these calculations rounded to the
- . . . nearest whole number.

One has been done for you.
Which two of these numbers, when multiplied together,
have the answer closest to 70?

to the nearest
whole number
\ and \‘ 75.7 x 59 4466
- 7734 - 60
772.4 x 9.7 N
20.34 x (7.9-5.4) 72@

2 marks

o Write in the missing number.

\ 404.09 = 8.5

1 mark



BOOSTER WORKBOOK

Measurement
M5

Convert between metric
units (see also M9)

Pleckgate i

4 W

A bottle holds 1 litre of lemonade.

Rachel fills 5 glasses with lemonade.

She puts 150 millilitres in each glass.

How much lemonade is left in the bottle?

Show
your working.
You may get
a mark.

ml




This table shows the weight of some fruits and

vegetables.

Complete the table.

grams kilograms
potatoes 3500 3.5
apples 1.2
grapes 250
ginger 0.03

Pleckgate i

BOOSTER WORKBOOK

Measurement
M7

Perimeter and area



Match each shape on the left to one with equal area
on the right.

One has been done for you.

\

2 marks

Pleckgate F&

HIGH sCHoOL [N

Draw a rectangle on the grid that has half the area of
the shaded triangle.

Use aruler.

1 mark
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u Here is a grid of regular hexagons.

Here is a 1cm square grid.
The shaded shape has an area of 3 hexagons and
Some of the grid is shaded. a perimeter of 14cm.

Draw another shape on the grid which has
an area of 4 hexagons and a perimeter of 14cm.

1cm1

Tcm

What is the area that is shaded?

1 mark

1 mark
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n Here is a triangle drawn on a square grid.
Millie has some star-shaped tiles.

Each edge of a tile is 5 centimetres long. Draw a rectangle on the grid with the same area as the triangle.

bcm
-— Use aruler.

Not actual size

N\

She puts two tiles together to make this shape.

AL

Work out the perimeter of Millie’s shape. Trmark

\ cm

1 mark



o Liam has two rectangular tiles like this.

5cm

He makes this L shape.

What is the perimeter of Liam’s L shape?

\

cm

1 mark

 Pleckgate B

n This shape is made from 4 shaded squares.

<— 15¢cm —»

Not
actual size

Calculate the perimeter of the shape.

Show
your working.
You may get
a mark.

cm

2 marks




Lauren has three small equilateral triangles and
one large equilateral triangle.

The small triangles have sides of 7 centimetres.

Lauren makes this shape.

-+7cm-»

Not actual size

Calculate the perimeter of the shape.

Do not use a ruler.

cm

1 mark

10

An isosceles triangle has a perimeter of 12cm.

One of its sides is becm.

Pleckgate
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What could the length of each of the other two sides be?

Two different answers are possible.

Give both answers.

\ cm

and

cm

cm

and

cm

2 marks

1"



Triangle ABC is isosceles and has a perimeter
of 20 centimetres.

Sides AB and AC are each twice as long as BC.

A

Not actual size

Calculate the length of the side BC.

Do not use a ruler.

Show
your working.
You may get
a mark.

cm

10cm

HIGH SCHOOL
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What is the area of this shape?

-a4cm»>

Not to scale

7cm

~——-10cm——

Show
your method.
You may get
a mark.

cm

2 marks

12

13

KK,
Ofsted
Outstanding
Provider

2 marks
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Here is a rectangle with a width of 15.7 centimetres. This is a centimetre grid.

Draw 3 more lines to make a parallelogram
with an area of 10cm?2

15.7cm Not actual size Use a ruler.

\

length

The perimeter of this rectangle is 85 centimetres.

Calculate the length of the rectangle.

1 mark

Show
your method.
You may get
a mark.

cm

2 marks

14 15
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“ A white square is painted in one corner of a grey square.

Here is an equilateral triangle inside a square. Each side of the white square is half the length of
a side of the grey square.

Not actual size

12cm Not actual size

The perimeter of the triangle is 48 centimetres. 12cm

What is the perimeter of the square?

What is the area of the grey section?

Show
your working.
You may get
a mark.

Show
your method.
You may get
a mark.

cm

2 marks

cm

2 marks

16 17



BOOSTER WORKBOOK

Ratio and
Proportion R2

Use of percentages
for comparison

7 Pleckgate iz

n Hassan scores 40 out of 80 in a test.

Kate scores 40% in the same test.

Who has the higher score? \
Circle Hassan or Kate. Hassan / Kate

Explain how you know.

Here is a pattern on a grid.

What percentage of the grid is shaded?




Write in the missing numbers.

\

30% of 60 is

30% of

Calculate 15% of 460

Calculate 5% of £3600

is 60

1 mark

1 mark

1 mark

1 mark

Pleckgate F&
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250000 people visited a theme park in one year.

15% of the people visited in April and

40% of the people visited in August.

How many people visited the park in the rest of the year?

Show

your method.

You may get
a mark.

2 marks




BOOSTER WORKBOOK

Ratio and
Proportion R3

Scale factors

P Pleckgate B

Provider

A B ¢

- 60cm—
Not drawn to scale

The distance from A to B is three times as far as from B to C.

The distance from A to C is 60 centimetres.

Calculate the distance from A to B.

Show
your method.
You may get
a mark.

cm

2 marks




BOOSTER WORKBOOK

Ratio and
Proportion R4

Unequal sharing
and grouping

Calculate% of 840 \

Pleckgate

There are 24 coloured cubes in a box.

Three-quarters of the cubes are red,
four of the cubes are blue
and the rest are green.

How many green cubes are in the box?

Show
your method.
You may get
a mark.

One more blue cube is put into the box.

What fraction of the cubes in the box are blue now?

\

offed

Outstanding
Provider

2 marks

1 mark

1 mark
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Mari is the presenter of a weekly radio show.

Peanuts cost 60p for 100 grams.

What is the cost of 350 grams of peanuts? She always plays five new songs
for every two old songs.

Last week she played 15 new songs.

Show How many songs did she play altogether?
your working.
You may get

a mark.

Show

2 marks your working.
You may get
a mark.
Raisins cost 80p for 100 grams.
Jack pays £2 for a bag of raisins.
2 marks
How many grams of raisins does he get?
Calculate % of £15
Show
your working.
You may get &
a mark. \ foy
1 mark
g 15b
2 marks




o Here is a recipe for raspberry ice cream.

e N\
raspberry ice cream

for 8 people

;— litre of cream
1kg raspberries

2509 sugar

This recipe is for 8 people.

Josie makes enough raspberry ice cream for 12 people.

How much cream does she use?

\

litre

Fred makes raspberry ice cream in the same way.

He uses Z%kg of raspberries.

How much sugar does he use?

Show
your method.
You may get
a mark.

1 mark

2 marks

< Pleckgate fi
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Sapna makes a fruit salad using bananas, oranges and
apples.

For every one banana, she uses 2 oranges and 3 apples.

Sapna uses 24 fruits.

How many oranges does she use?

Show

a mark.

your method.
You may get

oranges

2 marks

Calculate % of 980

1 mark
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u David and his friends prepare a picnic.

Each person at the picnic will get:

3 sandwiches

2 bananas

1 packet of crisps

The children pack 45 sandwiches. |

How many bananas do they pack?
How many bottle tops will have the same length as 50 matchsticks?

Show
your method.
You may get
a mark.

Show
your working.
You may get
a mark.

bananas

2 marks

2 marks

Calculate % of 378 \

1 mark

Three-quarters of a number is 48

What is the number?

1 mark



Here is part of a number sequence.

The numbers increase by the same amount each time.

The sequence continues.

Circle all of the numbers below that would appear in the sequence.

BOOSTER WORKBOOK

Algebra A3

Generate and describe
linear number sequences

N\
840 905 989 1000 2051




Hayley makes a sequence of numbers.

Her rule is

Write in the next two numbers in her sequence.

\

36

28

‘find half the last number then add 10’

24

HIGH sCHoOL [N

o Pleckgate E&s

Here is a repeating pattern of shapes.

Each shape is numbered.

Wl ACOWEAOH®

The pattern continues in the same way.

Write the numbers of the next two stars in the pattern.

\ and

2 marks

1 mark
Complete this sentence.

Shape number 35 will be a circle because ...

1 mark

The numbers in this sequence increase by the same amount
each time.

Write in the missing numbers.

N 1 13

1 mark
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Here is a number chart.

Every third number in the chart has a circle on it.
o In this sequence each number is double the previous

number.
1] 2 (::) 4|5
Write in the missing numbers.

© @
11 (::) 13 [ 14 (::)

\ 3 6 12 24 48
16 | 17 19| 20 2 merks
@ 29 : : :

The chart continues in the same way.
Here is another row in the chart.

Draw the missing circles.

N |[71]72|73|74 |75

— The first two numbers in this sequence are 2.1 and 2.2

The sequence then follows the rule
Will the number 1003 have a circle on it?

Circle Yes or No. N Yes / No

‘to get the next number, add the two previous numbers’

Explain how you know.
Write in the next two numbers in the sequence.

21 22 43 65

2 marks

1 mark



This sequence of numbers goes up by 40 each time.

40 80 120 160 200

This sequence continues.

Will the number 2140 be in the sequence?
Circle Yes or No. \ Yes / No

Explain how you know.

1 mark

 Pleckgate B

A sequence starts at 500 and 80 is subtracted each time.
500 420 340 ...

The sequence continues in the same way.

Write the first two numbers in the sequence which are
less than zero.

2 marks
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The rule for this sequence of numbers is ‘add 3 each time’. Here is a sequence of patterns made from squares and circles.
1 4 7 10 13 16 ... number of | number of
squares circles
The sequence continues in the same way.
o[]o 1 3
@)

Mary says,

‘No matter how far you go there will never be a OI%IOI%IO 2 5

multiple of 3 in the sequence’.

Is she correct? ODODODO 3 7
Circle Yes or No. \ Yes / No © O O

. The sequence continues in the same way.
Explain how you know.

Calculate how many squares there will be in the pattern
................................................ WhICh has 25 circles.

1 mark

Show
your working.
You may get
a mark.

2 mark




A sequence of numbers starts at 11 and follows the rule

‘double the last number and then subtract 3’

1 19 35 67 131 ...

The sequence continues.

The number 4099 is in the sequence.

Calculate the number which comes immediately
before 4099 in the sequence.

Show
your method.
You may get
a mark.

1"

Pleckgate
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Algebra A4

Number sentences
involving two unknowns

offed

Outstanding
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n A shop sells notebooks and pens.

Hassan bought a notebook and a pen.

He paid £1.10

Kate bought a notebook and 2 pens.
She paid £1.45

Calculate the cost of a notebook.

Show
your working.
You may get
a mark.

2 marks

+ Pleckgate f
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!?“

y [
N -_]]

30 children are going on a trip.
It costs £5 including lunch.

Some children take their own packed lunch.

They pay only £3
The 30 children pay a total of £110

How many children are taking their own packed lunch?

Show
your working.
You may get
a mark.

children

2 marks
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Square it up

You need six drinking straws each the same length.
Cut two of them in half.

You now have eight straws, four long and four
short.

You can make 2 squares
from the eight straws.

77777777

U7
S
77

Arrange your eight straws to make 3 squares, all
the same size.

77777777

\. J
~

Teaching objectives

53 Solve mathematical problems or puzzles.
Visualise 2-D shapes.

(.

. © Crown copyriht 2000
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Joins Money bags
Join any four numbers. Ram divided 15 pennies among four small bags.
Find their total.
Joins can go up, down or sideways, but not diagonally. He could then pay any sum of money from 1p to
The score shown is 8 + 15 + 6 + 18 = 47. 15p, without opening any bag.

G @ a @ How many pennies did Ram put in each bag?

lolole -\,,-r
Slelolo -.;;
= L

Find the highest possible score.
Find the lowest possible score. TN

Try joining five numbers.
Now fry joining five numbers using only diagonal joins.

/Teaching objectives é Teaching objectives
Solve mathematical problems or puzzles. 54 Solve mathematical problems or puzzles.
Add and subtract two-digit numbers mentally. Explain methods and reasoning.

- -

Crown copyright Crown copyright
© ht 2000 ® ht 2000



A perfect match

1. A matchbox tray slides into its outer cover.
In how many different ways can you do this?

2. Imagine a cube and an open box just large enough
to hold it.

In how many different ways can you fit the cube
into the box?

\ J
g

Teaching objectives

Solve mathematical problems or puzzles. 56
Visualise 3-D shapes.

A\

© Crown copyright 2000 73

-
Presents

Gurmit paid £21 for five presents.

For A and B he paid a total of £6.
For B and C he paid a total of £10.
For C and D he paid a total of £7.
For D and E he paid a total of £9.

How much did Gurmit pay for each present?

.

é Teaching objectives

57 Solve a given problem by organising information.
Explain methods and reasoning.

-

74 © crown copyright 2000
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Spot the shapes 2 Four by four

1. How many triangles You need some squared paper.
can you count?

This 4 by 4 grid is divided into two identical parts.
Each part has the same area and the same shape.

2. How many squares
can you count?

Find five more ways of dividing the grid into two
identical parts by drawing along the lines of the grid.

Rotations and reflections do not count as different!

3. Draw your own diagram to count triangles.

Don't use too many lines! Explore ways of dividing a 4 by 4 grid into two parts

How many triangles can a friend find? with equal areas but different shapes.

Can you find more?
. J \ J
/Teaching objectives é Teaching objectives

Solve mathematical problems or puzzles. 58 5 Solve mathematical problems or puzzles.
Visualise 2-D shapes. Visualise 2-D shapes.

Explain methods and reasoning. Find fractions of shapes.

-

Crown copyright Crown copyright
© ht 2000 ® ht 2000
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Three digits

Imagine you have 25 beads.
You have to make a three-digit number on an abacus.
You must use all 25 beads for each number you make.

-

T

o~ 6O
0
n@jﬁ-

‘o

How many different three-digit numbers can you make?

Write them in order.

J

e

S
Ki

Teaching objectives

olve mathematical problems or puzzles. o
now what each digit represents.

Order a set of whole numbers.

© Crown copyright 2000
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Make five numbers

Take ten cards numbered O to 9.

O ELEEC

Each time use all ten cards.

Arrange the cards to make:

a. five numbers that are multiples of 3
b. five numbers that are multiples of 7
c. five prime numbers

Make up more problems to use all fen cards
to make five special numbers.

Teaching objectives

1 Solve mathematical problems or puzzles.
Know 3 and 7 times tables.
Recognise prime numbers.

-
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Maze Jack's book
Start with zero. The pages of Jack's book are numbered from 1.
Find a route from 'Start’ to 'End’ that totals 100
exactly.

The page numbers have a total of 555 digits.

How many pages has the book?
Which route has the highest total?

Which has the lowest total? How many of the digits are a 5?
Now try some different starting numbers.

\ J \ J
g

Teaching objectives é Teaching objectives

Solve mathematical problems or puzzles. 62 63 Solve mathematical problems or puzzles.
Add and subtract two-digit numbers mentally. Know what each digit represents.

Multiply and divide by single-digit numbers.

-
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Flash Harry

In May he sold it for £200.

In June he was sorry he had sold it.
So he bought it back for £300.

In July he got tired of it.
So he sold it for £400.

Overall, did Flash Harry make or lose money?
How much did he make or lose?

\.

In April Flash Harry bought a saddle for £100.

/ Teaching objectives

Solve mathematical problems or puzzles.
Use negative numbers.

A\

64
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Age old problems

My age this year is a multiple of 8.
Next year it will be a multiple of 7.
How old am I?

Last year my age was a square humber.
Next year it will be a cube number.
How old am I?

How long must I wait until my age is both
a square number and a cube?

My Mum was 27 when I was born.

8 years ago she was twice as old
as I shall be in 5 years' time.

How old am I now?

~

-

65

Teaching objectives

Solve mathematical problems or puzzles.
Know multiplication facts to 10 x 10.
Recognise square and cube numbers.

82
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Zids and Zods

o @ )
o0

al

Zids have 4 spots.
Zods have 9 spots.

Altogether some Zids and Zods have 48 spots.
How many Zids are there?
How many Zods?

What if Zids have 5 spots, Zods have 7 spots,
and there are 140 spots altogether?

Find as many solutions as you can.

\.

/ Teaching objectives

Know multiplication facts to 10 x 10.
Add two-digit numbers mentally.

A\

Solve mathematical problems or puzzles. 66

© Crown copyright 2000
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Franco's fast food

This is what food costs at Franco's café.

1 curry and 1 tea cost £4.
2 curries and 2 puddings cost £9.
1 pudding and 2 teas cost £2.

What do you have to pay in total for
1 curry, 1 pudding and 1 tea?
What does each item cost on its own?

4 Teaching objectives
67 Solve mathematical problems or puzzles.
Explain methods and reasoning.
o

84
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Albert Square Coins on the table

Anna put some 10p coins on the table.
One half of them were tails up.

36 people live in the eight houses in Albert Square.
Each house has a different number of people living in it. Anna turned over two of the coins, and then
Each line of three houses has 15 people living in it. one third of them were tails up.

How many people live in each house?
How many coins did Anna put on the table?

\ J \ J
g

~

Teaching objectives Teaching objectives

Solve mathematical problems or puzzles. 68 6 Solve mathematical problems or puzzles.
Add several small numbers mentally. Understand simple fractions.

Explain methods and reasoning. Explain methods and reasoning.

-
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A bit fishy

A goldfish costs £1.80.
An angel fish costs £1.40.

oo\

N
\
P

1. Jim bought a cat and dog for £60 each.
Later he sold them.

He made a profit of 20% on the dog.
He made a loss of 20% on the cat.

How much did he get altogether when he sold
the cat and dog?

Nasreen paid exactly £20 for some fish.

! ) 2. Jim bought another cat and dog.
How many of each kind did she buy?

He sold them for £60 each.

He made a profit of 20% on the dog.

He made a loss of 20% on the cat.

Did he make a profit or loss on the whole deal?

\ J \. J
/Teaching objectives é Teaching objectives

Solve problems involving ratio and proportion. o 1 Solve mathematical problems or puzzles.
Choose and use efficient calculation strategies to solve a problem. Find simple percentages.

Explain methods and reasoning.

-
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Shape puzzle Eggs

Each shape stands for a number. Mrs Choy spent exactly £10 on 100 eggs for her shop.

The numbers shown are the totals of the line of
four numbers in the row or column.

Ad AOI]

$ Od A
O|O|0O|0]|[z0

Large eggs cost her 50p each.
‘ ‘ ’ A [:J Medium eggs cost her 10p each.

': Small eggs cost her 5p each.
[0 [ [ze]

Find the remaining totals.

For two of the sizes, she bought the same
number of eggs.

How many of each size did she buy?

/Tenching objectives é Teaching objectives
Solve mathematical problems or puzzles. 72 73 Solve problems involving ratio and proportion.
Use a symbol to stand for an unknown number. Explain methods and reasoning.

Explain methods and reasoning.

-
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Anyone for tennis?

Two boys and two girls can play fennis.

Ali said: 'T will only play if Holly plays.’

Holly said: 'T won't play if Ben is playing.’

Ben said: 'T won't play if Luke or Laura plays.’
Luke said: 'T will only play if Zoe plays.’

Zoe said: 'T don't mind who I play with.’

\.

Which two boys and which two girls play tennis?

/ Teaching objectives

Solve a problem by extracting and interpreting data.
Explain methods and reasoning.

A\

74
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Bus routes
A
Six towns are connected by bus routes. (g Y B
The bus goes from A back to A. w
It visits each of the other towns once. E N
How many different bus routes are there? 'I C
This table shows the bus fare for each direct route.
B to A costs the same as A to B, and so on.
AtoB|BtoC|[CtoD|DtoE|EtoF|[FtoA|BtoD|BtoF [CtoE|CtoF
£4 | £3 | £4 | £4 | £3 | £4 | £5| £3 | £2 | £2
Which round trip from A to A is the cheapest?
\
é Teaching objectives
75 Solve a problem by extracting and interpreting data.
Add several numbers mentally.
N

92
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Slick Jim All square

On each of these grids, the counters lie at the four
corners of a square.

o © &) &)
o © o
o © &) o
o

Slick Jim won the lottery.

He spent two thirds of his
winnings on a very posh house.%_

He spent two thirds of what he

had left on a luxury yacht. What is the greatest number of counters you can place

on this grid without four of them lying at the corners
of a square?

Then he spent two thirds of what
he had left on a hot air balloon.

He spent his last £20000 on a
flashy car.

How much did Slick Jim win on the lottery?

/Teaching objectives é Teaching objectives
Solve a problem by organising information. 76 77 Solve a problem by organising information.
Find fractions of quantities. Visualise 2-D shapes.

Understand the relationship between multiplication and division.

-
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Teaching objectives

Visualise 2-D shapes.

A\

é . . )
Sleigh ride
In Snow Town, 3 rows of 4 igloos are linked by
17 sleigh paths.
Each path is 10 metres long.
When Santa visits, he likes
to go along each path at least once.
His route can start and end at any igloo.
How long is the shortest route Santa can take?
What if there are 4 rows of 5 igloos?
. J
p

Solve a problem by organising information. 78

© Crown copyright 2000
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Spendthrift
Choc bars cost 26p each.
Fruit bars cost 18p each.
Anil spent exactly £5 on a mixture of choc bars
and fruit bars.
How many of each did he buy?
\ J
p

Teaching objectives

Solve mathematical problems or puzzles.
Choose and use efficient calculation strategies to solve a problem.

Add sums of money.

96
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Cola in the bath Millennium

A can of cola holds 33 centilitres.

If you had a bath in cola - don't try it! -
approximately how many cans of cola would you need?

Hint: 1 cubic centimetre is the same as 1 millilitre.

At what time of what day of what year will it be:

a. 2000 seconds
b. 2000 minutes
c. 2000 hours
d. 2000 days

e. 2000 weeks

after the start of the year 2000?

/Tenching objectives é Teaching objectives
Solve mathematical problems or puzzles. 80 8 1 Solve mathematical problems or puzzles.
Estimate lengths and convert units of capacity. Convert smaller to larger units of time.
Develop calculator skills and use a calculator effectively. Develop calculator skills and use a calculator effectively.
-
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People in the crowd Make 200

Estimate how many people there are in the crowd. 1 2 3 4 5 6 7 8 9

Choose four of these digits.
Each one must be different.

Put one digit in each box.

This makes two 2-digit numbers reading across
and two 2-digit numbers reading down.

Add up all four of the numbers.

In this example the total is 100.

12 + 47 + 14 + 27 = 100 4 7

How many different ways of making 200 can you

find?
( Teachina oblecti 4 ing objecti
Teaching objectives Teaching objectives
Solve mathematical problems or puzzles. 82 83 Solve mathematical problems or puzzles.
Count larger collections by grouping. Know what each digit represents.
Give a sensible estimate. Add several two-digit numbers.
o
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